Problem 1. Sum of Odd Numbers &= & & & & ]

(Time Limit: 2 seconds)
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Given arange a to b, please find the sum of all the odd numbers within the range. For
example, the sum of the odd numbers within the range [1,6] is1+3 +5=09.
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Given a number of datasets, where each dataset contains two numbers indicating
the range, namelyaand b (0 = a = b = 100).
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Output the sum of odd numbers within the range of each dataset.
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Sample Input: Sample Output:
15 0

24 3

37 15
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11 1




Problem 2. Ten Half + 33

(Time Limit: 2 seconds)
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“Ten Half” is a simple poker game similar to BlackJack. A is one point, 2 is two
points, ..., 10 is ten points, and each of J, Q, K is a half point. If your total point of
cards is over 10.5, you lose the game.
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The first line is an integer n (0<n<=10) that indicates the number of test cases.
Other lines contain the cards you have in each test case. There is at least one card in
each test case.
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Output the probability of losing the game (A%), where A is a rounded integer
scaled from 0 to 100 after you draw the next card. If the initial cards in the test case
have already exceeded 10.5 points, output -1. Add a newline character at the end of
each output.

CERER R LR R R R CORE R B S
03] 100 enfEdic e ok PlEGF ¢ hiavge 54248 10.5 &> ﬂ‘]ﬁ%}ﬂ% 1o n
F RS PR ET

Al
Sample Input: Sample Output:
2 69
A35 -1
46JK




Problem 3. The Determinant 17%I=3R{&

(Time Limit: 2 seconds)
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A determinant is defined as:
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—a*e*i+d*h*c+g*b*f-c*e*g-b*d*i-a*f*h

Calculate a determinant of 3x3 matrices.
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=a*e*i+d*h*c+g*b*f-c*e*g-b*d*i-a*f*h
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The first line of the input contains an integer N indicating the number of test

cases (1 = N < 100). For each test case, there are three lines with three integers

separated by spaces.
For example, a test case is following:
123
456
789
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456
789

I HH EREA:

Output the answer of each test case. Add a “newline” in the end of the output.
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Sample Input: Sample Output:

2 0
123 -285
456
789
694
249
183




Problem 4. Multiplication B#< #&

(Time Limit: 2 seconds)
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Given a dataset of integers, calculate the product of these numbers by
multiplication.
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Input at most nine lines of test datasets, and each dataset contains
nintegers ( 1 <n <12) with the range m (0 <m <40).
The integers are separated by spaces.
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For each input line, print the product value of those numbers involved. Please
print a cartridge return at the end of each output line.
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Sample Input: Sample Output:
234 24

122407 0




Problem 5. 18 My 5 &
Sip-Pat-La
(Time Limit: 2 seconds)
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" Sip-Pat-La" is one of the popular dice games in Taiwan.

Players roll four dice in the game and score the results. There are three conditions:

1. Win-take-all: Four dice have the same number;

2. Meaningless: Thee dice have the same number, or four dice have different numbers;

3. Score: Two dice have the same number; the score is the sum of the rest two dice. If
the four numbers are two pairs, select the pair with the bigger number to calculate
the score.

Please write a program and judge the result according to the input numbers.
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Enter the four numbers of dice points per line, where the numbers range from 1 to 6.
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The results of each measurement are output in order. If the condition is a winner-take-
all, the uppercase English letter WIN is displayed. If it is meaningless, the uppercase
English letter R is displayed. If the points can be calculated, show the score. No spaces
are required before and after the output, and there must be a newline character at the
end.
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Sample Input: Sample Output:

2345 R

3434 8




Problem 6. Covering a Hole
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(Time Limit: 3 seconds)
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Tom works in a company that produces covers for all kinds of holes, such as holes on
streets and wells. He encounters a problem as follows: given a hole H which is a
polygon with interior angles of only 90 or 270 degrees, determine the smallest
rectangular cover that can completely cover H. In this problem, H is given in a
coordinate system such that each of its edges is either vertical or horizontal. When
covering a hole, each edge of the cover should also be either vertical or horizontal in
the same coordinate system.

Consider the example in Figure 1. It is easy to see that the smallest rectangular cover
that can completely cover H is a rectangle of size 4 x 8.

(7,5) (8,5)

(2, 4) (5.4)

H (5272 (8.2 (10,2

(2, 1) (10, 1)

8

Figure 1: a rectangular hole H.

In this problem, you are asked to find the area of the smallest rectangular cover that
can completely cover H. For example, in Figure 1, the output is 32.

Technical Specification

1. The number of the vertices of H, denoted by n, is a positive integer between 4 and
100.

2. The x-coordinates and y-coordinates of vertices are integers between 0 and 1000.
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The first line is an integer t, 1 <t < 10, indicating the number of test cases.

Each test case starts with one line containing the number n, 4 <n < 100, of vertices of
the hole H. Then, n lines follow, each of which includes two integers x and y, 0 <x, y
< 1000, which are the coordinates of the vertices of the hole's polygon. In the order,
they would be visited on a trip around the polygon.
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For each test case, output the area of the smallest rectangular cover that can
completely cover H in one line.
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Sample Input:

Sample Output:

2
10
101
102
82
85
75
72
52
54
24
21

21
51
54
24

32
9




